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REHWATREET A, S LSy EN RIS, W mEEERE, R
B, RS HMArESMABRAIKES Y. —TENBKSHHERSIHE LHREEYN, 1
B -IEKEEEARBRY, KFHMAKERN ., RS HMOEXE: po tHa: Ly, Lgs
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=, WA AT

BEANESSITHEREREREATY . K, EEAWES S ERE RSP G AR ERS. &
BFHE TR A 2 & BRI R L M B IR R R+ P IE SR AR A PR % I
FIRF MR . RIIE LA Bt B FIWT 2 (B o RO FEM AN AR, 1 ORI T 78 o 0 AR B 1 BT
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is B, U AT ST e, FAENFHI NG AR BB TEH—FERAE. THETE
ANHERE Not all A are B BBy 24 & HIlr . Hsh, AN B FRAER AN Z BN XEHE DL
FEIET, TSR AERR R AR, T DA R0 B B AR R R B RO T S A R R
B,

: In an amusement park seven friends F, G, H, J. K, L and M are deciding who will
ride the roller coaster. There is only time for one rides before the park closes.

If F rides, G must ride.

If G and H both ride, ] cannot ride.

If H and ] both ride, L cannot ride.

H J rides, either K or M must ride.

K and L cannot both ride.

K and M cannot both ride.

Which of the following is an acceptable combination of riders if only three people ride?

(A) F, Gand] (B) G, Kand M (C) G, Kand L

(D) H, Jand K (E) H, Jand L

ZHiH . “K and L cannot both ride” fil “K and M cannot both ride” X}~ & {48 f] §k
BELEHEERAIEFRGEHN, K, L. M ZAZEARLEY roller coaster, M MiH (B).
(C), (D), (E) HBr, BHEHREE (A). T L, XA KGN B IS IRE E 2N, 1)
K 5 L 8 M Z 3§ roller coaster, = A 4R B4 — A\ &I roller coaster, M X ™R {F. ok
(B) 1 (C) HEBR . BB “If ] rides, either K or M must ride” # “If H and ] both ride, 1. cannot
ride” XK, ATHERR (A), (E), BERHEEN D),

Seven employees—J, K, L, M, N, O and P will be assigned to four offices-- 101, 102,
103 and 104. Two employees will be assigned to each of the first three offices—- 101,102 and 103.
One employee will be alone in 104.

Neither J nor N will be assigned to an office with K.

L. will not be assigned to an office with M.

It O is not assigned to an office with M, O is assigned to an office with P.



Which of the following three pairs of emplogees can be assigned to the first three offices.

(A) Jand N, K and P, L and M

(B) Jand N, Kand L, O and P

(C) Jand K, L and P, N and O

(D) Jand L., Kand N. M and O

(E) Jand P, LLand N, K and O

Z it “Neither J nor N will be assigned to an office with K” BRE 2 E E HIW . Hil
ERTEHNAFFREEHBZEHEEXE, TS “TANKALASKER—HLE". B
“IJRN” 5R K DI AER—HLZE, REX—F&AE, T8 ©. (D) HHHL ., 8\
JEBETRE. THE Q). B, ERERY B,

W, &AM 55
EMEHEYE, APR[ENMNBTHSHN. ESHBPHRITHES IS £HE. HE
RERFDTVERGBRETHB =B, 253 R If A, then B; Only if A, then B; If and
only if A, then B, #FH|ir R EHE —FERMNEFE, HWRKRHY Either Aor B; A or B, HE
¥ErE S B ILHEHEANESE, HEiFREZXRE A and B; Both A and B; Not onlv A but
also B; A, Band C as well; Besides A, Balsos+, %%, ESHHBIEP, FEHEER
RSB RN, MEUESHEEARE, RHERESHNESTHRERGHTE
FARTR, ESEREIEPHAMEERS. FENIRAFTERGRBE—FE S ¥, 5%
F AR I A Y 5L & FI 8 R B R RIBTE B E R B S BB I A then B 1,
MR AFENBLFELE; MEABAREE, WA UKREE: WEBHFE, AR—EHFE; ME
A RFE, BURERTFE. BVEEFE. ERFLERGMBET A If and only if A, then B 1,
MRARLBHFE, MBXALFE; WRAKBRELE, WBHKASNAEE. ELERE
REHE Only if A, then B, FAFE, BA—EHFE; FAREE, WBLAREE: #
BFE, WALFEE; FEBARE, WAR—FERE. LA LBRE MU HEIE N 692 5 4k o 5
BB A IES ., Ao TR IE. AN EEXEE 4R MIREMN . 3258 is B
RN, EE T E L
The coach of a soccer team is selecting players for the team. The candidates are John, Karla,
{.isa, Myrna, Nan and Opal.
Lisa must be selected for the team.
Joan can be selected for the team only if Karla is also selected.
Myrna and Nan can be selected for the team only if the other is also selected.
If Karla is seleted for the team, Nan cannot be selected for the team.
If Lisa is selected for the team, the Opal must also be selected.
1. Which of the following must be true.
(A) Myrna is selected for the team
(B) Nan is selected for the team
(C) Nan is not selected for the team

(D) If Joan is selected for the team, Nan is not selected



(E) If Karla is selected for the team, Nan is selected also
2. If Joan is selected for the team, which of the following is a complete and accurate listing of the
other candidates who must be selected?
(A) Karla
(B) Karla and Lisa
(C) Karla, Lisa and Opal
(D) Karla, Lisa, Opal and Myrna
(E) Karla, Lisa, Opal, Myrna and Nan
3. If Karla is not chosen for the team, then the largest number of candidates from the group who
could be chosen is.
(A) 1 (B) 2 ) 3 (D) 4 (E) 5
 REBRHFARERURGSAEMLELGRT HNERERYN . XBEETHEER
H

(1) L {must)

(2) Only if K=]

(3) Only if N=M 8¢ Only if M=N

(4) If K=~N

(5) If L=0

MEERAE (D M G URFTSREFIBHN, qHE O LFPRENR, Hitmsr
W R

If L=0

L (must) }30 (must)

TOREGFWRA . & A FE. U BLEE

L (D). EEHER (A Ml (B), (A) 1 (B) HR— 1M BEMLEL, ITUPEE F&
(3. RIEWFTFAHTHN, BE S HEFER DS — K4, BB MEN SFE YR,
RE#HLE “M BN LHABEFAR" X —RE. FEHEE ) #E A) H B FER
HEEw .

©) BRA—EEM. (E) 5&H#F ) HRBEMFE, TREUAEY D). REXH
(2). LEFEHBMULKL (D) TETAHHRMGE, TS “nE Joan BIRMEA R, M Karla
VB ERA R ", BRESRM (1) WHE Nan BEHEENR. BIMRASBERMT.

Only if K=] .

SRR, £ B H, A g TN COEERRD

If K==~N (& @) ]

FESRAHISHRN . # A 72, W B L f:’“'N (ED Nan REHENAR) Mk (D)

K i fEB\ R )

2. (O. REBOAKRME (1) MBHMORMEO LFBEIAR, THER (A f1 (B),
HEEBBEMEHE (), ZRLERMFRT HWHN, TTH#5 Karla B VAR . BHRE
R (O MFRG (3 URFTDREFBHAN, AJHEH Myrna fl Nan R85 AR . B
(D). (E) HEBR, BERECH O,



3. (D), Bl Lisa M Opal & BEIEA R, SFEEHMEE, MR Karla RENAR. R
B LR T FIRTHIU, T Joan WARSBEIERN R . RIEHRMF (3), AIHIFEE Myrna,
Wl Nan, HTAEREKRRABRLSE 441, HERR D).

A, FHEIIM AES AT R4 R
AOFCRUE RO AL G B L AT R R F V). I GRE AT HERE ) R, &k L
“ﬁﬁ?ﬁﬁ’fﬁiﬂﬁsﬁ%ﬂl AL, A e S sy 3 EAER R, XRER .

FRFE AR, A BT 3T T IE 0 R A5t HE TR 5T AT 48 8 A (4 0H M8
%%Lﬁﬁﬁéﬁ%ﬁiﬁﬂﬁiﬁ%Jﬁéﬁiﬁﬁfﬁ#ﬁ%e AT 3 5T R BT 4 B SR 44 5 (W) R A 32k R T B
A EHR AW RRE . B BENMMFEMNEEN RS SR, REIRH 5 FEH
Wk & 4 B AT B AR IR, B/ ERETEE. FFE T

] 1. An organist is arranging to judge the playing of original compositions—R, S, T, U.
V and W. She will hear one student play each day from Monday through Saturday. She must
schedule the auditions for the students according to the following conditions.

R must play earlier in the week than W.

S must play on Thursday.

T must play on the day immediately before or immediately after the day on which U plays.
V cannot play on Tuesday.

Which of the following is a possible schedule of auditions, with the students listed in playing
order from Monday through Saturday.

(AR, V, U, W, T, S

U
sV, W

™ U, T, V, R, W, S

(EY W, R, V, S. T, U

LR R ERR N

(1) R<W

(2) S=Thurs

(3) T (one day) <U 5, T>U (one day)

(4) V5#Tuesday

F 40 (R 3% B BT 45 ) A (R e 2T, aER L (A). (BE) IR FI 5448 (D M (3 M
F &, AR (A M (E). T (B) WM (D) WasS &t (O M 2 MEFE. B
BB, (D) HERR, WMEEHBER O,

5 2. A band has five members-—Jack. Karen, [.ouise, Mark, and Nancy. Whenever they
give a performance, each of them plays one of the five instruments—a banjo. a drum, a guitar.
a harmonica, and a piano. All five instruments are used in each performance.

Karen is able to play only the banjo.

Jack is able to play only the harmonica.

Nancy is able to play any instrument except the piano.



Mark is able to play both the guitar and the drum, but no other instruments.

Louise is able to play any instrument.

Which of the following could be true?

(A) Mark plays the drum at a performance.

(B) Karen plays the harmonica at a performance.

(C) Jack plays the piano at a performance.

(D) Nancy plays the piano at a performance.

(E) Louise plays the harmonica at a performance.

BRI EM R RIRITE

(1) K=b (2> J>~h (3) N—any (~p) (4) M—d+g (5) L—any

AERIAFSE (D, @ G 2HEERT B). (O, (D) BHEFE. kX
W, REERE (A) T E) B? INAGRARIEE, IREEER (A). FEEY
(A). Bfl Mark J§% drum. RIFTH R, Nancy AEEHZH ©, Louise B fEE % piano, X
SUBEHOREAFE, B (A HERER. T E) MHARHSKRE @) HFE. &
HeBR (ED,

1E GRE ¥ 8-l , ARBAREHETEAER, FE2HE 2NN, 3E
W58 5RO R AT BRI, HERRX AT BHIEEW, B8 EEREE. BE
EWESR.

2. HEHWEIR, THEHEZENRER, GEBRINBGE - CHAKES 55—
AFHE . FRMGE. A, SETRIIBGHRE M EFTEL S A, DERE
BREBTMETRIERER. HETEEH.

#: In a study of five brands of pain reliever, P, Q, R, Sand T, the bands were tested
and ranked against each other as more or less effective per dose. The following results were
obtained ; .

(1) P was more effective than Q,

(2) The effectiveness of R was less than that of S,

(3) T was the least effective brand tested.

(4) Q and R were equally effective.

(5) The effectiveness of S was greater than that of Q.

1. If the statement above giving the results of the study are true, which of the following must also
be true? ° |
(A) P and S were equally effective.
(B) P was the most effective brand tested.
(C) S was the most effective brand tested.
(D) R was less effective than P.
(E) T did not relieve pain.
2. If Q contains the same amount of an ingredient X, as S does and more of that ingredient than
T does, which of the following is consistent with the results of the study?

(A) The relative effectiveness of the five brands of pain reliever is due to the amount of X the

9



brands contain.
(B) R doesn’t contain X, and brands of pain reliever in which X is absent do not have any
measurable effectiveness.
(C) Brands of pain reliever containing X do not have any measurable effectiveness.
(D) The absence of X in R would account for R’s being more effective than T, Q and S.
(E) The presence of X contributes to the effectiveness of T, Q and S in relieving pain.

1. (D)., AR AWl R ERR N

(1) P (eff.) >Q (eff.)

(2) R (eff. ) <S (eff.)

(3) T (eff.) =the least

(4) Q (eff.) =R (eff.)

(5) S (eff.) >Q C(eff.)

RF\RMAF (D, @), @) DIREXRANHAN, FTHEHP (eff.) >R (eff.), BEX —F
FEURFEX AR T KM, TTHEA P S HATERRA RN, BRTH B, O H#
B. (A, (B) BREABFH., ERL, REALOHHW P (ff.) >R (eff.). FTH
EEE (D),

2. (E), AR TAEEIT PR AL FHE, REEEHFHHRSSF RS R4
HFE. IRIE (A) I (B): EMRSEMIINENERERRTEFRESYF X A&
) UREBEME, THHEH Q (eff.) =S (eff. ), X—FHWMBREWFRLERS (eff.) >
Q Ceff.) MFE. HORREE (A).

RIE B) T, Bl: “HYWRAE X, FE X WEMANFRIERER AR H R aHH
W, B “BHY R OFBHEMA LR, IEMRERETFE, BHEk B,

(©), (D) WIMBARIES, iR (O, (D), BRAEN (BE), BA¥ (E) HHFER
HIFIRTED “Bh X AMHFEN T. QM SEBNAREE 2R EHRERAFE.

3. FIRHERRMAA, XHERRE HINERIRAAN, TR EEE, WTes
WriE 3 5.

BE HIM A TR .
H p. then g . If p, then q
@ " H. d
Therefore q Therefore p
(t s valid) (It is not valid)
H p, then g If p, then g
t
) not q M, not p

Terefore not p Therefore not q

(If is valid) (I is not valid)
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(6)
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(8)

T 5 B S i3 B ] ) 40 D8 R SR B R U EAT PR PR R . AT R

.

policy. J, K and L are members of the administration. M, N. and O are on the faculty. X, Y,

If and only if p,

P
Therefore q

(It is valid)

then q

S

—

If and only if p.
q
Therefore p

(It is valid)

then g

If and only if p,
not g

Therefore not p
(It 1s vahd)

then g

If and only if p,

not p

Therefore not g
(It is vahid)

then ¢

q
Terefore p

(1t is vahd)

Only if P, then g

. not p
Terefore not q
(It is valid)

Only if p, then q

The president of a university is selecting a committee to study the university grading

Only if p. then g
p
Therefore g

(Tt is not valid)

Only if p, then g
not q
Terefore not p

(It is not valid)

Z are students. There must be at least as many faculty members on the committee as students.

If either ] or M is selected to serve on the committee, the other must also be selected 1o serve

on the committee.

N will not serve on the committee if L serves on the committee.

serve on the committee if X is on the committee.

(1) Which of the following is an acceptable committee.

(A) J, K, N, O,
(B> J, K. M, O,
() J, L, M, O,

Y L] Z
X, 7
Y A\l Z

O will not



